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QUESTION 1

When a 5 GHz HT station in a 40 MHz BSS desires to protect a 40 MHz transmission from an OFDM station using an
RTS/CTS or CTS-to-Self exchange, what frame format is used for the RTS and/or CTS frames?

A. HT-mixed format

B. HT-greenfield format

C. Dual-CTS

D. Non-HT Duplicate

E. Phased Coexistence PPDU

Correct Answer: D

QUESTION 2

What two IEEE 802.11 entities may be used to separate successful transmissions within an EDCA TXOP? (Choose 2)
A. SIFS

B. AIFS

C. ACK

D. CAP

E. PIFS

F. EIFS

G. RIFS

Correct Answer: AG

QUESTION 3

Given: There are many differences between analyzing wireless and wired networks. In a wireless network, there is no
guarantee that one station can hear another station\\'s transmissions. If no corrective actions are taken nor corrective
mechanisms implemented when a "hidden node" problem exists, which measurable statistics parameter will likely
increase in a wireless protocol analyzer?

A. Duration value

B. Retransmission Count

C. Contention Window

D. Authentication Failure
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E. BlockAck Reset
F. ACK Timeout

Correct Answer: B

QUESTION 4

Which parameters accurately describe the Beacon Interval field in the Beacon frame? (Choose 2)
A. Value can range from 0 to 2007

B. 4-octet length

C. Indicates the exact time interval between Beacon transmissions

D. Indicates the desired time interval between TBTTs

E. Measured in time units of 1024 ?

Correct Answer: DE

QUESTION 5

What HT PPDU format is shown in the exhibit?

Format of Data field SERVICE | Scrambled | BM=
(non LDPC case only) 16 bits pPsDU | Tail bits

Data HT-LTFs  Extension HT-LTF=

Bus Bus 4us Bus 4ps 4us per LTF 4ys per LTF
; A 5 A A A A A o A i
s | o L] mee | o] [ ][R ows

A. HT-mixed format

B. HT-greenfield format

C. Non-HT format

D. Non-HT duplicate format
E. Dual Training Field format
F. ERP-OFDM format

Correct Answer: A
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